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top of this page.
This paper consists of fifty multiple-choice type of questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are gequgsbed

helow :

(i} To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not
accept a booklet without sticker-seal and do not accept
an open booklet. ’
Tally the number of pages and number of
questions in the booklet with the information
printed on the cover page. Faulty booklets due
to pages/questions missing or duplicate or not
in serial order or any other discrepancy should
be got replaced immediately by a correct booklet
from the invigilator within the period of
5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will
be given.

After this verification is over, the Test Booklet Number
should be entered in the OMR Sheet and the OMR
Sheet Number should be entered on this Test Booklet.
Each item has four alternative responses marked (A), (B),
(C) and (D). You have to darken the circle as indicated
below on the correct response against each item.

Example : @ . @

where (C) is the correct response.

Your responses to the items are to be indicated in the OMR
Answer Sheet given to you, If you mark at any place
other than in the circle in the OMR Answer Sheet, it will
not be evaluated,

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the
OMR Answer Sheet, except for the space allotted for the
relevant entries, which may disclose your identity, you will
render yourself liable to disqualification.

The candidate must handover the OMR Answer Sheet
to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall. The candidate is allowed to take away
the carbon copy of OMR Sheet and used Question Paper
Booklet at the end of the examination.
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COMMERCE / &rddegg (0
Paper - I1 / 58 - 11

Consumer Protection Act was enacted
in India in the year :

(A) 1992 (B) 1986
(C) 1975 (D) 2001

In which of the following sectors,
Foreign Direct Investment (FDI) is
banned ?

(A) Drugs and Pharmaceuticals
(B) Insurance
(C) Telecommunications

(D) Atomic energy

Which is the correct answer from the
codes for the following statements :

(a) Political environment refers to all
political forces which have an
economic impact on business.

(b) Economic environment refers to
all forces which have an economic
impact on business.

(¢} Technological environment
exercise not considerable
influence on business.

(d) Social and Cultural environment
refers to the influence exercised
by certain factors on business.

Codes :

(A) Only (a) and (b) statements are
true

(B) All the above statements are true
(C) (a), (b) and (d) are true
(D) All the statements are false
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Transfer of assets from Public Sector to
Private Sector is referred to as :

(A) Privatisation
(B) De-regulation
(C) Nationalisation

(D) Individualisation

Statement (A) :

In 1991, government decided to allow all
foreign investment to any industries
without any restrictions.

Reason (R) :

Government has enhanced the
investment limit of small scale
industrial units.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A)

{(B) Both (A) and (R) are true but (R)
is not the correct explanation

of (A)
{C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Premium on issue of shares can be used
for ;

(A) Payment of dividends
(B) Writing off preliminary expenses

(C) Paying fees to directors

(D) Redemption of debentures
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7.

As per AS-14 purchase consideration is
what is payable to :

(A) Shareholders

(B) Shareholders and debenture
holders

(C) Shareholders and creditors

(D) Debenture holders and creditors

Assertion (A) :

Management Accounting provides the
required information to the
management for decision making.

Reason (R) :

Management Accounting is a branch of
Cost Accounting.

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A)

(B) Both (A) and (R) are true but (R)
is not a correct explanation of (A)

(C)  (A) is true but (R) is false

(D) (A) is false but (R) is true
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(a)

(®)

(©

(d)

10.

(a)

)]
(c)
(d)

dper-Ili oo fa il AU

Match List-I with List-II.

List-I

Loss on
realization

Profit on
realization

Assets sold

Creditors paid

Codes :

(a) (b)
@ (i)
(i) @
(i) @)
® (i)

A)
®)
(©
D)

List-1I

(i) Debit partners

capital a/c

Credit
realization a/c
(i1i) Credit
partners alc

(i1)

Debit realization
alc

iv)

(e
(ii)
(ii)
(iv)
(iv)

(d)
(iv)
(v)
(ii)
(i1)

Maich the following :

List-I (Items)
Dividend Q)

Stock

Reserve

(i1)

W

Codes :

(@) (b)
@ G
® v
(i) @)
i) @)

(A)
(B)
©
(D)

(iii)

Depreciation (iv)

List-II (Part)

Portion of Current
Assets

Fixed Liabilities
Portion of Profit
Surplus

Charge against
Profit

() (d)
(i) (Gv)
(iii) (i)
(iv) ™
iv) (i)
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11.

12.

13.

Who defines “Economics as the Science
of Wealth” ?

(A) Marshall (B) J.B.Say
(C) Keynes (D) Pigou

Under Kinked Demand Model, the
demand curve for the firm is drawn on
the assumption that

(A) All rivals charge the same ‘price
which is charged by the oligopolist

(B) All rivals charge a price
independent of the price charged
by oligopolist

(C) All rivals follow the oligopolist
upto a certain price but beyond
that they do not

(D) All oligopolists charge the price as
independent sellers

Under perfect competition short run
equilibrium of a firm will be

(A) MC=MR
(B) MC>MR
() MC<MR

(D) None of the Above
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14.

15.

16.

17.

Which of the following pricing
strategies is relevant for a firm that
produces jointly demanded products ?

(A) Marginal cost pricing strategy
(B) Price skimming strategy

(C) Penetration pricing strategy
(D) Loss-Leader pricing strategy
Statements :

(a) The Law of Demand always
operates in the case of superior
goods.

(®) The substitution effect is always
positive.

(A) (a), (b) both are correct

(B) (a), (b) both are incorrect
(C) (a) is correct, (b) is incorrect
(D) (a) is incorrect, (b} 1s correct
Regression analysis is a measure of :

(A) Degree and
relationship

direction of

(B) Degree of Association
(C) Cause and effect relationship
(D) None of the above

A good hypothesis should be :

(A) formulated in such a way that it
can be tested by the data

(B) precise, specific and consistent
with most known facts

(C) of limited scope and should not
have global significance

(D) All of the above

Paper-I1
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18.

19.

20.

Given :

What will be AB in above diagram as per
probability theory ?

(A) Simple events
(B) Compound events
(C) Simple and Compound events

(D) Errors

Among the following methods, which is
not the probability sampling method ?

(A) Systematic sampling
(B) Stratified sampling
(C) Cluster sampling

(D) Quota sampling

Which one of the follawing tests is used
to test the significance of the
co-efficient of association ?

(A) Z-test
(B) t-test
(C) x2-(chi square) test

(D) None of the above
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21.

22.

(a)
(b)
(e
(d)

PaperIl

Assertion (A) :

In Economic Man Model of decision-
making, the decision maker develops
maximum number of alternatives and
selects the best one only.

Reason (R) :
Economic man gathers all necessary
information, does series of complex

equations, but ranks the alternatives as
per convenience.

(A)
B)
(©
D)

Both (A) and (R) are true
Both (A) and (R) are false
(A) is true but (R) is false

(A) is false but (R) is true

Match the following :
A B

Therbligs Luther Gullick

@
POSDCORB (ii) Standing Plans

Policies, rules (iii) Frank Gilberth

Wider span (iv) Flat Structure
of control
(@ (b) (© ()
A O Gi) @ @)
B) i) G @) Gv)
© (v O @) G
®) @ Gy O @
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23. Who advocated the concept of
“Federalism” in designing the structure
and controlling the activities of
organisation ?

(A) Herold Koontz
(B) F.W. Taylor

(C) Herbert A. Simon
(D) Peter F. Drucker

24, Who proposed “Equity Theory of
Motivation” ?

(A) Mc Clelland
(B)
©)
(D)

Skinner
J. Stancy Adams

Victor Vroom

25. A two-dimensional view of leadership
style was propounded by whom ?

(A) Blake and Moutan _
(B) Frederic Filder and Robert
(Cy Kurt Lewin and F. George
(D) Mc Gregor

26. SWOT Analysis means :

(A) Analysis of Strengths, Wealth,
Order, Teams

(B} Analysis of Strengths,
Weaknesses, Opportunities and

Threats

Analysis of Selling, Wealth, Order,
Transport

©

(D) Analysis of Solutions, Wealth,

Opportunities, Transport
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27.

28.

29,

The person who coined ‘DAGMAR’ is

(A)
B)
(©)
D)

Philip Kotler
Stephen Covey
Russel Colley
Peter F. Drucker

Which of the following is correct
statement ?

(A) selling focusses on the needs of the

seller, marketing focusses on the
needs of buyer.

(B)

selling focusses on the needs of
buyers, marketing focusses on the
needs of sellers.

©

selling is consumer oriented,
marketing is profit oriented.

(D) selling 1is society oriented,

marketing is profit oriented.

Assertion (A) :

Companies allocate huge budgets on
advertising.

Reason (R) :

Advertising boosts demand and sales
revenue.

Codes :
(A) (A) is true but (R) 1s false

(B) (A) and (R) are true, (R) explains
correctly about (A)

(A) and (R) are true, but (R) is not
the correct explanation of (A)

(A) is false but (R) is true

(©

(D)

Paper-II
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30.

31.

32.

33.
(a)
(b)

(©
(d)

'i’hpér—ll sl TR, i

Which of the following is not a
component of holistic marketing ?

(A) Internal marketing
(B)
(C) Rural marketing

Integrated marketing

(D) Relationship marketing

Cost of capital includes :

(A) Risk-free cost of capital
(B)
{C) Financial risk
(D) All of the above

Business risk

Risk-return trade-off is relevant in :
(A)
(B)
(©)
(D)

Financing decision
Dividend decision
Investment decision
All of the above

Match the following :
Fair value (i)

(i)

Shares

Replacement
value

Tosetup a
new plant

Goodwill

Consumable
items

Value of image (iii)
Market value (iv)

(v) Scrap

Codes :

@ (b (o)
A @ Gv) ()
B) @O @) i)
(€) @Gy @ @)
D) @ Gv) (i)

(d)
(i1)
(iv)
(iv)
V)

30.

31.

32.

33.

Ac)

&5 (800 S OB TEORE S-Bydoh 6%
o st ?

(A) ©od8s SrT)oh

(B) ¥ES SrtBoh

(C) (e SwB)doh

(D) Sowogre SrB)BoR

Aot é?scﬁaoée & (300D éotrow ;
(A) 85, B Swreds Jeho

(B) aErs 65

(C) D58 8T

D) S SYPcsw

SHEHO ~ HBP00, BE-H oD K Bod
&8 565008 :

(A) 8580 oo

(B) &3Bo& dFcho

©) tgwd dgabo

(D) Y

(BoHTPA x85BS :
(@) JOFHS Jewsd (1)
(Fair value)
@56:.385335 Dend (1i)

Toeen
(b) B°8 rots
hohés
Loisagen
Do
S

—

éoéa&

@ag Dend
a’mB&eg Dend

(ii1)

(d) ()

()

555‘3 :
(a) (b) (o)
A @O Gv) (b
(B) @ @) (ii)
(O Qu) @ G
D) @ v Qi)

(d)
(i)
(iv)
(iv)
(v}

o BlosAT




34.

35.

Which of the following statements is
correct ?

(a) Payback period method measures
the true profitability.

(b) Capital rationing and capital
budgeting mean the same.

(¢) IRR is a DCF method.

(d) ARR takes into account the time
value of money,

Codes

(A) (a), (b) and (c) are correct

(B) (b) and (c) are correct

(C) only (c) is correct

(D) (a), (b), (c) and (d) are correct

Assertion (A) :

Management of working capital refers
to the management of current assets
and current liabilities.

Reason (R) :

However, the major thrust will be on the
management of current assets, because
current liabilities arise in the context
of current assets.

Codes :
(A) Both (A) and (R) are correct
B)

(C) (A) is incorrect and (R) is correct

(A) is correct and (R) is incorrect

(D) Both (A) and (R) are incorrect

Paper-II
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34. & (808 'ﬁ)S"&:‘()& a°§a:5e>66 aB {BHH ?

35.

(@) DwrgE 3535 S48 S8R0
PYTPADHESK Seniiod.

b Hrogd IrdabEse Hb»
Sarerss 2GS Botd 2,58,

(© IRR 2% DCF 5.

@) ARR (555 S0 Deoss $8Kp56"
8% 0nod.

g5 :

(A) (a), (b) DOSD (¢) ¥BID

(B) (b) $Bcs (c) ¥BSD

(C) BSeo (o) SrED $BLG

(D) (a), (b), (c) B (d) Y FBIS

BB (A)

SEHreES Ve @08 (BRE el
S0 (FHas wiiyo .

>80 (R):

oS BE, SoagFis Drrris B ede
NG PR $0tod. JotHEod (B
oen (B8 eie $oisgosty $ikod.

%5 :

@) (@), (R) & Sod

(B)  (A) 35 B (R) RGN
© (@A) @5&5:;» BB (R) $e5o
D) (A) Db0s» (R) edaxd
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36. Assertion (A) : 36. (BOFES (A):
Performance Appraisal is a critical
activity of humar{) Eesource management «3"&% DB wIH IrSS ¥t
as it helps in evaluation of employees QETeath Jowofodd SRSTS woo.
and development of their potentials. OISR, b &5555:,0 ao;,’w%@ HBODSS
Reagon (R) : . 580 ©HS Jowohode.
Setting up of appropriate performance .
standards, scientific measurement of s8es0 (R)
act}lal pffarfcc»irmalnce, tai{ing s%italz)le SAS (HSdrro Jofeytoo, a3 H
acftions for development are the ke >
issues of performl;nce appraisal ir}; 31?&30‘;5@:63 @@dﬁ)orﬁ B0y Babeo,
identification and development of SAS dore Szt BDEI00 - ©HID
employee potentials. Svaﬁacgeg HBoHIL Hodos» @e’,)&’:a%é
(A) Both (A) and (R) are true and (R) $020H0DS 053 9oBoeD,
is the correct explanation of (A) =
(B) Both (A) and (R) are false (A)  (A) 0Bck» (R) Botdir IOGSN
(C) (A) is true but (R) is false BcE (R) 038 (A) Go¥) SBGHS
(D) (A) is false but (R) is true DNBea.
37. Match the following : (B (A)&00% (R)Botow» RO =
_ . (O (A)DO@HB, 5 (R) SO@Doisd 50
P Reorimment . oveloms of D) (&) 5058 5, 55 (R) Sogse
activities 37. OIS TBD wEHGS08 ;
pertaining to
each Job (a) wosgs (i) ©8 as%K Sowobds
(b) dJob Analysis (ii) Identifying thg ek Soto sEgEsre TGk DIse
sources of getting -
prospective (b) a&’sK DB (ii) 7D a&yhets wodod
employees .
(¢) Recruitment (iii) To have required Coes e 2
quantity and () dasmdogo  (iii) SAS Yoays®, Treagsa®
quality of
employees &80l E0A dobhb
(d) Human Resource (iv} Recruitment (d) 588 S50 (iv) S0 w0888 Swere $H0D
Planning from within the e o
organisation PeedE T8 daseEo
Codes : 5853 .
(@ () (© (@ (a) (b) © (@
Ay @ Gy @) Gv) (A @ G) @) @Gv)
By v) @ @) (i) B) Gv) () (i) (ii)
€ Gu) @) ) @ (©) @i) () Gv) @)
D) Gv) ) () @ D) (v) @) (i) @)
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38.

39.

40.

41.

The sequence of activities relating to
staffing is

(a) Recruitment

(b) Manpower planning

(¢) Conducting tests

(d) Selection

(¢) Performance Appraisal
(f) Placement

A) (), (a), (©), (@), &) and ()
(B) (a), (b), {c), (d), (e) and (f)
(©) (@), (), (0, (&), (d) and (H
(D) (), (a), (), (©), (H) and (e)

360 Degree method relates to :
(A) Performance Appraisal
(B) Organisation Climate
(C) Employee Morale

(D) Retrenchment

Human  Resource
emphasises on

Management

(A) Development of employees

(B) Punishment for employees
(C) Adoption of employees
(D} None of the above

One of the following is the ‘lender of last
resort’ :

(A) World Bank
(B) RBI

(C) SBI

(D) ICICI

Paper-I1

38.

39.

40.

41.

A

RepodEsn Sowodod Bty SEyESre
£33 (G0

(a) QASHAFPERID

(b) S8 $3%e (Herds

(© éégp Qsen

(d) odE

(e) H2BH 560D

® 3;3)0:‘5563 (HBDots)

&) (), (@), (@, @), (f) S8 (e)
(B) (a), (), (0), (d), (e) SobBSo(f)
(C) (a), (B), (0), (&), (d) SoBSI™ (f)
D) (), (a), (), (©), () S8 (e)

360 &Ae Bg8 B8 Jow0odsH ?
(A) 31’5‘.’1095 K80

(B) éoé TE5E0

(C) &&%p 3884

D) &&h Foho

KPS B¥the e
FB0k.

A) a&ybo 0dHB
(B) a&hod 3o

(€) &&5hod 588 S50
(D) B INkr FH

N

808 B 2L ‘wod Herrd
@OLPH

A) (HHos apoth
(B) «8.9.8.
(©) &%.8.0.

(D) 2dode
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42. Match the following : 42, 808 B 23838508

List-I List-II apfee-I adae.]1
(a) Rate at which RBI (i) Bank Rate (a) 5.9.0. Teeag (i) ero Béw
grants loans to
commercial banks ePoHO% Loy
33) Béxo

(b} Rate at which RBI  (ii) Repo Rate
borrows from

: (b) ey aroHe (ii) B Bex
commercial bank
(iii) Prime lending 2008 6.9.0.
rate Sy Exg803 Bew
A) (a) - (i) (iii) (s
B) b)-Q Bo&ch
(C) (a)- (i) Bew
(D) (b) - i) (A)  (a) - (iii)
B) ®-0
Th ffered by E-banking d © @-@
43. e services offered by E-banking do not ..
include : Dy - @
(A) Credit Cards 43. E- 2r080R 90803 Hleds® & 2odd
(B) Loans and Advances EenHER BY

(C) Electronic Funds Transfer &) Bas gégm

(B) eyw, enxen
(©) oEpIE Jpe 269
(D) 5

(D) All the above

44, NABARD has taken over the entire
functions of :

44. NABARD s 800 Dtped 853 Sooks :
(A) ARDC d¢oen
(B) @6.8.9. ACD DHew
(C) 5.8.%. RPCD e

(D) 2%

(A) ARDC

(B) ACD of RBI
(C) RPCD of RBI
(D) All the above

PaperII TPhs B-03-17




45.

46.

47.

48.

One of the following is used to control

credit :

(A) CRR is increased and Bank rate
is decreased

CRR is decreased and Bank rate
is decreased

(B)

CRR is increased

CRR is kept stable and Bank rate
is increased

©)
(D)

The member countries of WTO have
moved to product patent regime to meet
their obligations under the 7 areas
covered by the agreement :

(Ay TRIPS

(B) TRIMS

(C) Regional Trade Agreement

(D) None of the above

The principle of ‘Build, Operate and
Tyransfer is known as :

(A) Consortia

(B) Subsidiary

(C) Turnkey projects

(D) Strategic International Alliances

Assertion (A) :

Technical barriers to trade are to set
standards for exports.

Reason (R) :

The intent is to block other competition.
Codes :

(A) Both (A) and (R) are correct

(B) (A) is correct and (R) is wrong
(C) (A) is wrong and (R) is correct
(D) Both (A) and (R) are wrong

Paper-I1
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PR O

B9 Doboles J;HoLEIB & Bod dE°
a8 A SDBPAFD

(A) CRR Q Doherdy; arof Bend
SAFE

CRRQ SAFE; aro® Bt SHRD
CRR 9 2oHheed

CRR Q {dore Hod erod Beoo
otHhaed.

(B)
©
(D)

WTO e.y0650 Trye 856 Scbnds D
Sorrod® & [Bots DEYG @ adolo e
B2f58s Seven 55D HBos SEo05°8
otHiHIeToD ?

(A) TRIPS

(B) TRIMS

(C) (@roBch ardey a3odio

(D) S RS 2D =H

B0, $BBOD B 269 Dats o3
drigo & Bod >BE° B8 $8%0h ?

(4)
(B)
(C)
D)

J8char Sosvo (Consortia)
REANTO TS

635&& rEgen

S5 @oéc;é‘édi) goond

(BOES (A) :

eBeyg oy MO (HErere TN
6380052853

5edw (R) @

286 Dersd B8 6@80533&05.
555“) :
&)
®
©
(D)

(A) 5805 (R) Bokr $BD

(A) 5B58 HB0 (R) $BKE =
(A) 5858 =& $oBa% (R) $BKE
(A) 5005 (R) Bokr P =P
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49.

50.

(a)
(b)

©@

(d)

Statement (A) :

SDRs are rights to draw on the
International Monetary Fund and are
sometimes called ‘Paper Gold'.

Statement (B) :

Miscellaneous item consists of the
allocation of special drawing rights
(SDRs) and statistical discrepancy.

(A) Statement (A) is true

(B) Statement (B) is true

(C) Statement (A) and (B) are true
(D) Statement (A) and (B) are wrong

Match List-I with List-IT and select the
correct answer using the codes given
below the lists :

List-I
Wider Market
Turnkey Project

List-I1
Modes of entry

Goal of
international
business

@
(i)

Expanding the
Production
Capacities

(iii) Advantage of

International
business

Geo-centric
approach

Codes :

(a) (b)
@iv) (i)
(i) ()
@ @)
@(iv) (i)

(iv) Stage of

globalisation

() (@
{iii) (@)
@) @)
(1) (@v)
(i) @@

A)
(B)
(©)
m

-00o0-

e B i e T

A

Pape-l;-lnld'.' 3 L g

49, 55 (A) :

50.

19

(a)

®)

(c)

(d)

SDR &3 VoSTEN (5B 06 Hod
Segees o) BSS mad Wy B
(28 F') o oo wotrs.

5w (B) :

éoég woos JF.8.w, G Serano
0Bk Keseo¥ Sgasren DA droerow.
Q) (A) g 5350

(B) (B) argyy IBXG

(C)  mgmgen (A) HdAn (B) JBID

(D) egmgen (A) S8k (B) dBID =2H

& BHINDDES SBSeo-I Bk 11
sErBore $B:5 $ErerNos® agtt)tm :

5@5-1 ;’:@%—II

DYEDS S-TYes 038

éﬁB&éSﬁs

(53% Sropen
(i) wosrdash
TS
ag%0
voSrduh
TRERE
HRBraso
($B0DH%se
3Bessdd
Sden

@
&GS @35

aéd 5‘5530&30
V0D

(ii1)

AR 1 go@%é
Jgrso

(iv)

g, :

(a) (b)
(iv) (i)
(i) @)
@ G
@iv) (iii)

(c)
(iii)
(i)
(ii1)
(i)

(d)
@
(iv)
(iv)
®

(A)
(B)
(©)
{8

-00o0-
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